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1) mnpn
a) mwn
i) wnnw 7Y 78 29K RY MM 70 2°h0D 27y
b) mooin
i) oKW
(1) What food is mox on nos 2y starting aman? o but is amn before then
(@) can’t be nxn because n?w1 says that mx» is ox all day on nos 27w
(b) can’t be &»n°31n °1°n because x»0n on are anwa all day on nod 27w
i) nawn

(1) nxn is Mok all day on noo 27w only if it’s not 77°wy 1¥7 and is »X1 to be
X7 N2 0T KXY

(2) The mawn deals with 7wy 7% that isn’t 737 N2 °7° 12 NRY? "X and is
anYa 0N oD 27Y until Anman? N0

2) X"wann

a) noRw
i) ©°7915w Mmp°¥a also aren’t MIX7 to be 7¥1 NI T RYY
i) Would m»oin say that o»131 5w mp ea are also ann until 7nan? 7o

b) nawn
i) "wy nwn has a different oyv than nxn that’s 10217 >7° 12 DRYY "X
i) While ">y >w mp°xa have the same oyv as 7¥n that’s 1027 7 12 NREY "X
iii) so it’s possible that the mawn is 9onnn for ™oy Hw mprxa
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1) mwn

2)

a)

TWRNW TV QTR IR RY 7032% 710 0709 22

Xn°172

a)

T2V NN 1 0O 0°H° NMN2W 27Y2 DR PORY KD

3) mooin as explained by x"wann

4)

a)

b)

lanivh!

i) The xn>»n2 for o2 o°n* Mnaw "2 doesn’t say outright until when the mo°x
continues on naw and 2w o

i) presumably because the m10°x continues qwnnw 7v and the xn>12 assumes that
we’d realize ourselves that the mo°X continues until then

Xowp

1) Why does the mawn for mos 27y need to say outright that the m10°x continues 7y
Twnnw

1o of apn oA
i) Infact
(1) On naw and 2w o a person can make w17 and eat before n>wn
(2) and that’s why the xn>92 can’t say that the mo°k continues Jwnnw v
ii) while
(1) for moo 27w the Mo & does continue Twnnw 73 because of a P1oo that says
7T 9992 WA DR 199K)
(2) And that’s why the 7wn for 2°nod *27y needs to say Jwnnw v

L qulab)

a)

b)

Xwp
i) Since the mo°x for 0°21w 0°»™ Mnaw *27w and o°nod *2y all begin at about
i) Why does the mawn here refer only to o°nos 27w

°X17°n

i) The x na follows with a yy7°n by X171 27 and a separate y17°n by X995 29

i) v of the o°¥17°n aren’t relevant at this point

5) Twnn of maoin



a) Xwp by PR 11037 to the nww of 22mpn > that on °2w o°n* MNaw "2 it’s N
to make v17°p and eat oy 7wan

1) Why doesn’t the X3 answer that the 7awn needs to set out the 7 for 27w
n°nod separately to teach that

(1) unlike for o>2w " MNAY "2
(2) the mox for oo 29y continues qwnnw 7v
b) v

i) This answer isn’t valid because we already know that on o°ro5 °2v the M0°K
continues qwnnw 7v from a 87723 in 2°nar noon

ii) and that’s why the X713 needs to rely on the a°x17°n of &1177 27 and x99 29
c) Nwp

i) We’ve established that X171 21 and &95 21 explain in the Xipon why the mawn
needs to teach that there’s an 72°9% MoK for o°noo "2

i) But given the X3 in o°nar noon why does the mawn need to add that the mo°x
continues Jwnnw v

d) y»n

i) Once the mwn needs to teach that there’s an 79°5% M0k on o°nos "2 for the
reasons given by &oo 271 k1177 20

i) The miwn adds xR 23& the 17 in 2°nar noon that
(1) the mox for o°nos *27y continues Twnnw Tv

(2) Even though the mo & for 21 o™ Mnaw "2y ends earlier if wv17p is
made oy Tvan

6) Twnn of maoin
a) y1nof nm ran to the xowp of a7pn o'
1) Infact on 22210 2" Mnaw *27y the MoK continues Jwnnw v
i) And it’s not a X>wp why

(1) the xn»92 for 02w o°»™ Mnaw 27y doesn’t need to say outright that the
0K continues Jwnnw v

(2) While the mawn for oo 29y does say outright that the mio°k continues v
Twnnw

iii) Because it’s only for a’riod *27y that we might have otherwise mistakenly said
that

(1) since o nod nuenw is ar Twan and other ow7p are 01 Twan 1P2OR1 after
nYnY

(2) noo 327p is also o Twan Haxa
7) R"wann



b)

The x>wp of o%°° 11021 and the &>y Xopw that we set out earlier applies to the
v17°n of 770 13027 as well as to the first y17°n of mison earlier

Namely
i) Xwp by %m0 11029

(1) Then why does the & 73 ask 2°»°1 MNaw *27Y 12°58 0°10D 227 R*R K1
"n1 002

(2) It’s obvious that the mwn needs to set out the 17 for oo separately to teach
that the mo°x for nos continues qwnnw 7v even though the nos 129p is vrw:
oy Tvan

i) y1n

(1) This answer isn’t valid because we already know that on o°r105 *27v the
MoKk continues qwnnw v from a X7na in o°nar noon

(2) and that’s why the X2 needs to rely on the o°x19°n of X177 27 and 95 29
i) xwp
(1) We’ve established that X177 27 and x5 21 explain in the X1pon why the
mwn needs to teach that there’s an 7%°9% Mo°R for o°nod *27y

(2) But given the x7n3 in o°nar noon why does the mawn need to add that the
70K continues Jwnnw v

V) y17°n

(1) Once the mwn needs to teach that there’s an 72798 710°R on 2 1o *2y for
the reasons given by &55 271 X177 27

(2) The mawn adds &n7IR 23X the 1°7 in o°nar noon that
(a) the mox for o°rod *29y continues Twnnw v
(b) Even though the nos 127p is 01 TWwan vnwa
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1) mwn
a) "IANT IR 129DRY 10 LW MDD YAIRM 17 INMD° R LL.ORIWOIW *1Y 179DK

2) o"awn
a) "> nno> XL" is a direction to the 17p7¥ X2 to see to it that the *1v has mo1d vaIxR
b) But

i) "wmann g Yer" is a direction to an *1v who is so poor that he relies on the
lytaly

ii) that
(1) If he gets no money from np7x to pay for Mo yax
(2) He must sell his clothing etc. to pay for Mo yax
3) mooin as explained by x"wann
a) "mann 2R is also a direction to the a7y oxax
i) namely

(1) the 1p7% *&23 must give money to the *1v even »nnni 1 to pay for vaax
mo

(2) even if the *1v has mmvo *nw 1 and ordinarily may not take »ani1 1
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BY AN DRI 2oy "2 2nREyh 010 250w NINTY WY TR N0 InnDY KD 1''7a
IMIRD T PR K927 7' 930 NOYUAN PR 121 RDPR NOYan anw KD RN 9D
B 3307 1270 AR R



N'DN NDWAWUN XN7T .7 9T a72yn'7 anann n 2" TN

ORI PR B oY IR IR0 7' KON RPIT INDT 70 RN YRR naan e ' Ta
TIAD SINPT APDT RNMN2Y RIVT 2D PIOAT KT 997 M1 RIPOR2 RIT 707 N1
STRMODD TIAD T NI R ORI INPT IIT OYY N7 RDwawn XD b

H'"Py Japh 2 aw

"D TITITRT AW WOY RYT D RNHAP RNMN2Y KT RDWaAwn K97 772 'S0
TTAMPD WDRT 17D RNAMAN2 RAWAWR RADT MR 19 n® 927 IRD ONRT 9oy
DART 9DD 19 WD 3717 057 WMDY WDR RITT YRWH TN M1 RNHRR wWHDD)
H''P
1) mnpa
a) Tnm? Mnoisatnmyw v
b) n%ym nnaan 1 begins at ahvn myw "o
2) mwn
a) TwnNw Y 07X 7387 XY 7717 M0 0°N0D 22
3) 'R&n»M2
a) anT "
i) wonw Y A5YnY AT 1 002 0°1° NINAY 2792 D7R 2OR° R
b) sor"
i) qwnnw 7Y Tm R
4) 'axp»a
a) anT "
1) 7% MYw Ywnn 02w 0°%° NAWw 272 7R DIR° KD
b) sor"
i) Twnnw Ty T "o
5) xma
a) Nwp
i) Why does the mawn need to teach the 17 of 792 MoK for oo 2
il) '& &n>>1a for a7 ' says the same 17 applies to every naw and every 2w or
6) Mmoo at Aoy amanT P At
a) Xwp

1) 7% "M in 'R ®n»92 says that the Mook on a°2 o°n* Mnaw *27y applies only
from n%vm anan that’s at 7xma Nww v

i) Why does the jwpn assume that by these words 7717 ' means the same as the
words 7nn? 7m0 in the mawn that’s earlier in the day at myw "o

10



7)

8)

b) y»n

i) The ywpn at this stage of the x°nx M7 assumes that 'k Xn*92 isn’t NP>y and
"799m) 7mIng n" means "aman’ e the same as the mawn

X"wama at A a'y
a) We’ll see in the qwnn of the X na that
i) Not only does x1n& mim assume that 'k X092 isn’t np"1»
i) The x1pon must also hold that 'k &n>92 isn’t NP7
Twnn of the X
a) vyrnof X1 an
i) You’re right that the mawn teaches no wyon for 7770 ™
i) Instead the miwn teaches the wy7°n for "o " that
(1) Although o1 " says for o°2w 0" mnaw *27w that qwnnw 79 723M 998
(2) For oo 27y he agrees that there’s an 11%°o& Mo°k that begins nman% o
b) 10 of x99 29

1) 'R &NM2 1S NP1 and says for 570 M that the Mook on 222w o°n° MN2aw 2w
applies only from 7%ym1 nman at axmaY Nww v

ii) The nawn teaches that on nod 27y the Mok begins earlier at nmn? o at "o
myw

C) X°wp to Roo 21 as explained by nm»von at 7ownY aman At
i) 'axn»92says that
(1) the mo>x for o2 oo Mnaw *27y also begins amn% Mo at nww v

(2) so it must be that 'k Xn»92 isn’t np>172 when it says that the moox for >27y
0°210 2" Mnaw doesn’t begin until 7mIn at 7xnm MY v

ii) and it follows that the yy7°n of X995 27 is 7191
d) yyn of X an to the Xowp to X9 27
i) Maybe it’s '2 Xn>>2 that’s Rnwawn

i) And x5 27 is correct that 'k &n>92 is np»17a that the Mook on 2" Mnaw "2y
0°210 doesn’t begin until 7712 at 7Xm NMYW "0

9) mpooin at knwawn "7 as explained by X"wAin

a) ToRw
i) Why does x v 7n say that
(1) it’s possible that 2 xn>92 is Xxnwawn and that the y17°n of 899 27 isn’t 779M

(2) instead of accepting that it’s possible that it’s '} Xn»92 that’s Xnwawn or
isn’t NP>y and the y17on of k99 27 is 79

11



i) after all

(1) we’ve established that the X1n& M of the & nx assumed that ') Xn»92 isn’t
np>1Tn

(2) and we’ve also noted that in the X3p0n the &1 holds that '} Xn»92 isn’t
alrRita

b) nawn
1) &7 still prefers the y17°n of x99 21 to the y17°n of k17 27
(1) Because
(a) For the y1n of x99 21 the mawn applies to 777 ™ as well as 01 "
(b) while for the yy7°n of X171 21 the mawn applies only for "oy
10) wni of the X
a) Nowp to Xy T and X9 27
1) nR "7 "720m9 " said that '2 X092 isn’t Rnwawn
b) xipon as explained by &"wnmn and o"aw and Xnannn "7
1) You’re right

i) "2 xn»12isn’t Xnwawn and this proves that ' Xn»972 isn’t np»17 and the Y10
of x99 27 1S 719

12
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797 YO0 2" TN

T9OER ' R w''paT PRIINAR PRT DY BRI "D 3vhpT Dhon ''Ta
"' PYODTR BRI "M awa o' 1P NIDDINT 120D ONUY B By "o bIannms
N7 I RN20 TR RWRN2 P "D 7NN 'R KD hnnobT Shon "o apona
"D PRI TR RwnAwsh 2" "D DA 99 T AURT WOHRT 17N 0

RTYRNT DY TIING R

1) mwn
a) Twnnw 7Y 0TR 9IR° KD 7MY M0 0°10D 227y
2) 'RRp™M32
a) nmm M
i) JWAnw 7Y A5Yn?1 Anng 1 0°2W 0°1°) NINAY 7Y OTR 20K R
b) sor"
i) Jwnnw 7Y 7m 9N
3) "axp™a
a) NP2 ATIYO YINAT NAW 27w A"awa nwvn
b) n>wn2 1T PAOORY TN RDT 0V M MK
4) xma
a) Nwp
i)  Why does the miwn need to teach that there’s an 7%°2X 710°X oN 70D 27y

i) From 'x xn»12 we already know for 7737 ' that there’s an 77°o8 m10°x for all
0°210 2% NNAWY "2

b) v1nof X157 29
i) You’re right that the mawn teaches no wyn for a7 ™
i) Instead the miwn teaches the wy7°n for "o " that
(1) Although for mnaw *27y and o°2w o»° the 17 is that qwnnw 7v 7911 92X
(2) For noo 27y the 107K to eat starts at nman? 7m0
c) xwon of e '
i) 1oD 2w AT M5 1990
ii) naw 29y2°01 M5 oYM
d) wwp
i) The x°n of 1M ' suggests that
(1) o " holds that qwnnw 7v 721m 9218 even for nos 27w

(2) And that it’s only for naw 27y that the 73%7 agrees with >0y " that 5%
TWnNY 7Y T

16



i) This is a &°wp to &1177 27 who says the mawn teaches that *o1 ' agrees with "
77w that on oo 27w there is an 7928 70K that begins nan? o

e) 1IN

i) X127 is correct that *01 " agrees with 77370 ' on noo 27w that there’s an MoK
720X that begins at nmn o

(1) But a7 ' and »ov ' disagree on whether a person who began eating
IN°72 0N Naw 27 or nod 27y needs to be poon at no>wn

(2) Namely
(a) Once a person begins eating “n°12
(i) or "1 says he can continue past 1>°wn and needn’t be p*0on

(ii) 77 " says that at n>°wn the person needs to be 5w 2P to make
a npoon

i) And it’s for their npY?nn on 17poo: that 1any ' says the 7597 follows o1 ' for
naw 27w but not for noo 27w

f) Proof is 'a Xxn»92 on naw 27y where *01 " said there’s no 21°17 to be p*09n
5) mooin at "xHo7 990m "7
a) Nwp
i) 'axn»92proves only that >0y "3 holds there needs to be no npos: for naw
i) Why does the & nx assume that o1 "1 says the same 17 applies to nos 27w
b) 10 of SR 10an

i) Since *01 " holds that on naw 2y he can be »°nnn even until the moment
before n>wn

ii) It’s a mwws that on naw 27w if he was 2n°172 2 he needn’t be P01 at n>wn

iii) So it must be that '2 xn>>12 teaches for >0y ' that 1°p>0on X also on noo 27w
where the 7908 710°K begins earlier at 7man% 7o

6) moown at Ppooon PR AT
a) nww of HRom 112

i) Since we’ve established that it’s for npoo that 13 'y was yaip that the 7%
follows *ov "3 on naw

ii) It must be that the 15977 doesn’t follow 01 " on his holding for naw 27y that
TWRNY 7Y T P9

7) R"wann
a) This is because we’ve established that 5%°m> 11021 holds that

i) ifit’s 7%nn3% anwa for a person to start eating qwnnw 7v it’s a mwws that he
needn’t be qwnnwn P0o71

ii) It follows that

17



(1) once we know that the 1710%7 is that a person needs to be qwnnwn p2oon
(2) it must be that the 75971 is that the 7%°ox Mok begins before 7>wn
b) w"x" disagrees with Hx>m> 12°27

18
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DY VAT 2T TIIWRN

1) nn7pi as explained by msoin

a)

We established in the prior m12°7 that *01° '3 says that a person needn’t be p°0on his
TTIYO at 1>°wn even on nod 17y

b) Instead he’s 71 the 77wo and is then 1an no72a 772» and makes vy p afterwards
2) mooin
a) noRw
i) Does the person need to make a second imvo after wy1°p because of the 7 that
77O 21PN ROR WITP TR
b) nawn
i) no
ii) because otherwise what does the person gain by continuing the first 77wo past
own
c) Nwp
i) But what of the 17 that 770 DIpna KO8 WP X
d) yrn
i) The nmyo that ends at 1"»12 before wy°p counts as a "n7wo" also for wrp
e) Nwp
i) The person won’t be using a 01> for nran n372 after w17 since we’ve
established that he doesn’t need to make a new 770
i1) how then will he be mo1 yaax R¥ on 1od
f) yrn
1) The o> for nman n372 on the 7o that began o1 7wan before w7 counts as
his first 015
i) The o1 for w17 counts as his second 01> and it’s after this 013 that he eats
mp
iii) The third o012 goes before manwa nn and M
iv) The fourth 01> follows after 5%n
3) X"wann
a) Xwp

i) Why doesn’t moo1n say the third 012 goes before 17xn as well as

19



b) y»n

i) Must be that he already ate 13 at the 77wo that began o1 7wan and ended
before wrrp

i) Because
(1) If he needs to eat 1%~ at a new second n7vo

(2) The x>wp of m»doIn remains: what does the person gain by being wnn the
first nmvo

20
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W' DAR AW 75T KTV ' IR NI TN PPI0R T SNMT RTW TN
9T 95T STMRP RI20M KUK 7991 71T PR 379 777 BV 1Y MIOOR3 YOINIaT
Sy 39 MOONTY WO 'ID DIDTIART RMI2T KM [ID MID JIMRPT RN PRIDI 1ApY

1)

2)

3)

4)

T aw ' aw wess

First 7a7pn
a) 'RRP™M?2

i) 07 ITRY WP 1Y 1207 YA 01 M AT M A awna awyn

i) poon% M M nMm
Second 7P
a) 'axn™Maat:p a7

i) JwAnw 7Y 9oK° XY [M0D 27w2] Myw b2 P19RD 30 RIW 727 DDIAR 19°OK
b) Based on 'a xn»72 the x7nx there concludes that

i) even-or'

(1) who says there’s no need at 11>°wn to be p°05n a 77y that began ann2
before n>wn

(2) agrees that where mo°xa °rini7 there needs to be nposn at mo>wn

mooin here
a) 1T M says Pphoon at nown a amvo that nona Yo nnn
b) sor ' says

i) ppooon PR at 7wn if an°a S nnn even on noo 27w

i) But he’s 771 that 1proon if MoK %100
R"wIN
a) oRw

i) How do we know that 7737 ' requires nposi even if a0 > nnn
b) nawn

i) From 'x xn»92 where 57 " wanted to be p°oon a mwvo at n>°wn where he was
present and surely wasn’t :10°X2 2°rinn

C) noRw

i) How do we know that >0y " requires 1pos:7 if 190°%2 P nnn
d) [awn

i) From 'a xn»92 and the X at :1p 77

21



"IDI |'j7'09N 'Xn XNA

5''9 9272 RN22 MINPT PPISSRY 15D RY 10 IRD PPR0DR ORM Ak [2 Ty p a7
IO NIPY ROR PRARWKR KDY RAND IPPO0DAT RIWIDT 7DD 119977 01 b ya R
PPOODRAR AW P 7IDN VPIT DRIAWT RN TTIRK TN DRIMW M272 Ro7 PaN
KDY 7% 7197 NOIMS2 RTAD PRO0DK T2 DIWD BRIAW TMAKRTD 7D NOMER wITR

I2'1NTY IOPO0DR AND KTV M ARTD I0W NYPY YA

1) xn™M3aon'R My
a) 7N ' says mnaw® ppooon
2) X
a) First X of oxnw
i) 77 " who says 1P 09n means there needs to be 5w nvpy
ii) But the 119%7 is that wpm non 079
b) Second xnn of Sxnaw
i) "n9720% ppooon 1o WTRh PRooonw awd"
c) Nwp
i) Presumably Sxyvaw in his second & n°m means the npoar is by jnow npy

il) this isn’t consistent with his first X772° where he says 1p>09% for vp is by
191 0MBD

d) y»n
i) 9xmw in his second X n also means that for wy7p the npoon is by on 00
3) X"wann
a) Nwp

i) Why did Sxwaw assume that in the xn*12 when 77370 " said P oon he meant
by 112w npy

b) y1n
i) The ano meaning of Pp 091 is by 5w npy
c) Nwp

i) Then why does the &3 in the end decide that Sxvw in his second &
means °p>05n by 197 01D

d) yrn

i) Because Pxmw in his first X used 1pooon in the sense of 797 no*o and not
in its ano-sense of J1>w NPy
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A"n n"Tn"awn

B9 By N2 PRMAR PR [19] WY "D aMan "2 r'Maa a0 A" A atawtea
RO 2909 'R D722 10 11D PRY2N PR IR DRINWT 7NN 1IN AT

AR
9RO YD PRIAN PRW P 12N QDO ToYnd WAy "o Pwn 372

1) First nn7pn according to o"awn

2)

2)

a)

b)

For a7 '

i) on both naw 27y and noo 27y a person can begin eating an°n2 only until 7m0
PRighlal)

i) Even if a person began eating an°12 he needs to be p>0on at m>wn by navpy
ow followed by 17117 non2 and wip

for»or '

i) on both naw 27y and oo 27w if a person began eating 7n°n2
(1) he can be 7>wnn his 77w0 even past n>°wn
(2) and when he’s ma the 77wo he is Nran 1292 7721 and makes v p

XMWY

i) if a person began eating 2n°n2 he needn’t be p>0on at 7>°wn with W NPy
i) but

(1) he does need to be wipm 751m 0B

(2) and he can then be wnn the n7wo and be 11n 372 7127 afterwards

second nnTpPn

a)

b)

on every naw it was the xman to bring in nian>w only after w17°p so that the n7wo
counts as if it were brought into xnaw7 x1p°

But
i) if by chance the 5w was brought in before v p

il) the xmam was to be wpn1 non 070 because this 77mn also makes the 77wo count
as if it were brought into xnaw7 x7p>

L qulab)

a)
b)

WP 1191 079 PP RN PN1R RMYA W *27 YRR K117 2792 720
Note that
i) The case of &1777 27 12 727 deals with a naw n7wo that began after n>wn

ii) This is different from the case of >xw where a naw 27y n7wo began “n°n2
and was wnn into naw

3) M2
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a) o7 M1 RN
i) WP 0 DX XX 12w DR PRI PRI ]
1) W7pm 757 0D R°277 O

b) Note that the xn»92 — the same as X177 21 12 721 — deals with a naw n7wo that
began after 7>>wn

4) n"awn as explained by x"wamn - Part 1

a) it follows that the &n>12is a "X — 2577 *»1 8°21n — t0 X117 2772 727 and isn’t a "R to
ORI

b) 1oxw
i) Then which xin supports the 7w of Hxmw
c) mawn
i) 9xmw bases his nvw on oy ' who says no p09:7 is necessary

ii) and YRmw says wpm non 010 only as a xmin that he applies to the basic nuw
of »or "

3) o"awn as explained by R"wAin — part 2
a) oRw

1)  When the &n»92 says "mw" that "w7pny 79m 019" — to which two o°xin does
the xn»92 refer

b) nawn — first 770

i) We’re not o the word "pwn" altogether because to this point we haven’t
established any case where either 777> '3 or *01 ' says wpn) 1191 0D

c) 7awn —second T77mn
i) We are o7 the word "
ii) the xn>12in fact does refer to 770 ' and o1 ' and teaches that

(1) although 77 ' and "oy "1 disagree on how late a person can be 7 ninn a
an°a 37wo and on whether a person can after 7w be wnn a nmwo that
began before n>wn

(2) They agree that where a person is 2°nnn a nmvo after 7>°wn
(3) because xnaw7T X°2 77O NN
(@) It’s best to bring in the oW after wrp

(b) And to be wpny nom oo if the 15w was already brought in before
TP

4) w"x" as explained by R"wann
a) The second 721 is correct with the o037 that
i) Although
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(1) the xn>72 deals with a regular naw n7wwo that began after 7>°wn

(2) While 5xyaw deals with a 77wo that began an°72 on naw 27w and was 7wnn
into naw

i) still
(1) since the xn»1a teaches that w7pm 797 01D counts the same as 5w NPy
in a regular naw n7wo even for 77 "

(2) it’s 7anon that 7770 " would agree with Hxmw that wpm mon 079 also
counts as 172w npy for a nmwo that began before naw and was wnn into
naw

b) It follows that
i) SRmw can agree with 77 " as well as with >0 '
i) And that "n115 X°1n can refer to Sxwaw as well as to 81177 27 92 129
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'0 DTIP XD AT D"awn

KD RTY X717 2''0p "D N2 Y9MNIRRY DIORD PYMINRY W 'V a7 IND 1''Ta
ROR MW7 32 DMNTD MOKRW INYT 5P YN 01 'V a7 POINRT S1nnD VN
Y50 9DT7IRRY AN TV DIORD D N1 N2 DN 190 KTV Y29 JIOYRWKRT

"y R"ya

1) 'RXn™3on v a7
a) oYM AN TR 0O 2O MNAW 272 DIR PIR° RD
2) 'axn»1a as explained by the xamx here
a) MO AT 2197 2MNAR INNAT 0 M AT M I
3) o"awn as explained by x"wann
a) Nwp
i) It’s a muwo that it’s A0 to be ik before the Mok a1 begins
i) Why would I think that it’s 710X to eat all day even before the m10°R 17
b) v
1) The wnis that for 7m0 "
(1) once a person is ’rinn before the 70°K 11 begins at nan% M0
(2) he can be wnn past the MoK a1 until 7>wn

ii) note that this v17°r doesn’t apply to °01° "y who says the an°i7 a1 on - mpaw »a7w
0°2 0°n* continues Twnnw Ty
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|'N'an 'RY 2" TN

"2 3% 927 2" RNAWT RIPI2 RATIVO NONT "2 avwm "D PR9an PR 772 'own
PRIAR P RDYW 1ITOT0 P2 RNDM DD 2Py X171 RIPI2 ONONT RAYY N7 'Y
MR POMDY FPRNDD PRART ITOTP P2 "D OMD IN"AT 2ARY JIRR N
RRYY XDV DaR 2159 PRATT JTIT? PR AR T0TT RPYPY ORT AN a'awand

TP DD PIRAN 1977 RO b

1) mooin
a) In the time of the x7n
i) They would prefer not to bring in nuan>w until after vrp
ii) but if the man>w were already brought in they’d be w7pn1 751 01
b) but nowadays that our nan>w are large we’re w7pm 79m 0D even 72N
C) noRw
i) What’s the oyv for these o>xman
d) mawn
i) Firstaoyw
(1) XP2aw7 XIP°2 RNTIWO N°NT 8D )
i) Second avv
(1) m% o1 that was o1 the same as no that’s 70197 when ;197 0719
2) X"wann
a) the second oyv applies only to wipm 791 01
b) it doesn’t explain why "1 weren’t X°an their nin>w before vy rp
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NIT IR TNAL IR Wi T " T

2 T Doy "o RNWSID S22 wnTRh 3D BRARD TR "D wnTR o7 a''Ta
R''D DIORY NPT OIT 23 DY AR T APV 2OTMMBNAD 720 MMRTR TORT RO

Y TR 'Y oA

B H"oy 1D AR NI22 PIDRD TR T N2 RITIP MPRITIR BRI RPIT IRDY 7''R2
2P DIORD NPT TR KON A1 ORI K92 D'ORT RIT WaR IRD ¥p1T Nvab nvanv
1997 ANNT NI2Y N9aRT KON PPAYRRA 1729 9277 0N 'R0 RIMWY XX XY NN
MR RDT PR 297 RTONTR IO MW 023 P 0w ans A'n apnb apnn
"1 3''7752 VPRI IRARY WTIPR 2IPn2 PIIRD NPT 7 KPR KOR 290 mbwya
JH'mY 2D W PAYRRA 209 MR vl wrn n9ab nvan 19IDR KT 1D 720 noww

1)

2)

3)

4)

5)

Xn3
a) Xmw says that 77wo 2pna ROR WIT°P PR

b) 27 says aTwo D1Pna ROW WP W1

mooIn

a) Based on a “X1 whose details aren’t relevant

b) It must be that Pxmw says 770 DIpna KPR WIT°R 1K even where a person makes
vI7°p In '} 02 and is on from the start to make his 77wo in'a na

R"wamn at vy o1 A"t

a) mooin could also have proved this from .xp 77
i) where 121 told his >7»%n to be oy in the n°2 where 7127 made v p
ii) even though each 7a%n was 1on to eat in his own n°a

First 7P to a X'wp by m»poin

a) “now

i) DRMW says nTwo opna Wi 1R applies where a person is at first 1on to make
his 770 in 'Rk n°2 but is later 7911 to make his 77wo in "2 o2

ii) 27 and >xmnw both agree that
(1) "N2102 HARY 7AW P22 NINRT V" D0 WP 1PHY 7207 N0 0w n"
Second 7n7pn to a Xwp by mooin
a) Note that

i) Since "v%y 727y 100" it’s obvious that when the person first made w17°p in
his n°a he was already 57 to make his 77wo in his 7210

ii) so n%w17 obviously holds that P& mw agrees with 21 that a7wo opna viTp W
where a person makes v17°p in '® n°2 and is 1on from the start to make his
770 In'a N
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iii) And it follows that *»%w17> must hold that Sxvaw disagrees with 21 and says Px
770 02 ROR whop only where a person was at first 11an to make his 77wo
in '} n°2 and was later 7911 to make his 77wo in '2 n*2

n°22 1R 79nnn InvTa R

122 D1RY 12 KOR 12 wTRY 'R
|l

!

'2 %22 10K Ton1

2P ROY WITR W — 0N QpPPa RO TR W — e M
7700 7700

2PN ROR VIR PR — 050 | D1p02 ROR WITP 1R — 1777 Rl SR
70 70

DI ROW WP W - nhw
77IV0

6) Twnn of mooin as explained by RX"win at Xp17 18D 7"'R2
a) Nwp
i) %22 and "»n>w1 are 1Mo each other on the nvw of Sxmw
(1) *222 holds that >x1mw says 77wo D1pHA ROR WITP PR
(a) even where a person was 1115» from the start to make his 77wo in'a n*2

(b) and 15w o1 where a person was 12n from the start to make his nmvo
in '} n>2 and was only later 791 to make his 770 in 'a n°a

(2) While we’ve seen that *n?w17° holds that HXmw says 0ipna XoR WIT°p PR
77wo only where a person is later 791 to make his nmwvo in 'a n°a

b) v
i) mPw17 wasn’t P> in referring to "7 n°2" and "nx n2a"
(1) Because *n>w1 actually meant to refer to oypn? opnn in the same nha

(2) And this table sets out the correct mu w of >x1mw 21 for both *22 and
Kaliak

'2 n°22 919K 773

DK7Y A R
ROX WTPw n°22
'2 022 910KD 1D

'2 0722 910K 773

D198 1NYT2 7 R
X7R WTPWw N°22
'2 N33 10K 7D

W 91 — Mmooy
ROW WP W7
TTIV0 D1pn2

W — e
PR RYY WITR
TV

yAwn 177 RN
ROW W TR w7
aTIV0 D12

M

PR — w1
21PN XX WIT°R
Yo

v —
D1Pna RW WITp
Tvo

Do — 177 R
WITP PRT 1DV
770 DIPna KOR

R — 1777 K03
DI ROR WP
77w0

SR

i) Note from the table that for both *>22 and >n%w1»

(1) 2xvaw for "noa1mRa "2 o1pn? 'R oIpn" says that

(a) A person is whmp 71 R except where he was 1on at first to make his
770 in '} 2pn and is later 79n»1 to be 7310 in 2 opn

(b) And in fact
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(i) mow deals with "72°9v 1020 anonw on" and on an 5w PR v
wants to make n>22 w17 and then to be 771 to his 7210 for his
77wo

(i) So this is a case of n*2 1MR2 2P DR Where the person was 1115n
from the start to make his 77wo in'a opn

7) qwnaof X"waan
a) Nwptoan
i) It’s ynwn from our xxa that 27 holds that
(1) If a person isn’t 7711 — namely "w7pw 21pHa 21K7 7710010 NPT i RO
(2) The 17 is 77w0 D2 ROW WITR w° even n°a? noan

ii) why does *nw17 say for 21 that 77wo oypna wip we only for o0 anvaw °n
15y 127w that counts as n°2 1MRa o1pR% pnn
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INX' X7 " T 2" TN

By "2 TIVON TIN2 Y INW ROWR A PMITY D P weT R'n e v e T2
R 2N O3HDT 0D KON 371521 190 1IN RHWA D PMIT MR 7TV N1DD Dan
7977 KPR DT MIPRT AW 12AND "D IR MRIW NN MWD PRI TN
TIN2 27T 7797 KDY PIAT MR PO 29 RaW ang MWRP A''7oaY Pran vk 7 an®

TP RN TIN AR 9T KDY PIAT 215D 2mR TR W RIT pmT 1'OR as Jrnn

1) mawn in M>72 noon on a nmwo that takes place 912

a) 'X K7 8% says the mawn holds that a 7592 on Nran 215w 1 is also RSY 1> 0w
nnn

b) "2 9nx7 87 says the mwn holds that a 719792 on N *195Ww P2 isn’t INROW 1 0B
ifeh

2) X7 in M>72 noon

a) There is also a np17nn of X7k on whether a 7572 on Nran N2 IS P 0B
TN MR

3) mooin here
a) Nwp
i) For the X71& who says a 17272 0n 11 TINaW 10 0 Nran nRw 1°° 0
i) What difference does it make whether ram 395w 190 is 11127 IAROW 1> 01
iii) The 1 nx%w 1 is qwo n anyway because of the 71512 on nran Inaw 1
b) yyn of mooin here

i) Whether 1mam 2195w 1 is iman ankow 120 0o is relevant where it happens that
T TIN2 70 INW KD

ii) but this y1°n is a pm7 because 77won 702 1 is needed o»vna 72708 MAWwaR
C) vn of MooIn in M>92 ndon

i) Whether 1mam 195w 1 is iman ankow 120 w9 is relevant where it happens that
7707 N2 70 o2 B RD

4) X"wn

a) The yyn of mdpoIN In M>92 noon is also a P17 because it’s unlikely that there’d
be 7mwvo: *19% 1> and 77wo NRY but not 77won TIN2

5) Twni of X"wAan
a) Reverse xwp

i) For the anx7 18 who says that the mawn holds that ran 105w 12 is 1 01w
1A IMROY

i) Why is it relevant whether 13177 32w 19 is 11 ROW 10 0®
iii) The N anRSw 1 is qwo n anyway because of the 7072 on nran “1%w

31



b) y»n

i)  Whether 11 inaw 1 is nnan kbW 0w s relevant where 195w 1 1w X
aitah!

ii) This isn’t a pm7 because 1man *195w 1 isn’t necessary to be o»vna 77°o8 71w
6) Moo In M>72 Noon
a) moon there asks the same reverse x>wp and gives this y17°n

i)  Whether 11 2395w 1 IS 111 nRLw 1 09 is relevant where 19% 1> 0% i R
nnn

7) R"wann

a) The yyn of mpoIN in N1>72 ndon also isn’t a pm7 because it’s possible that 1> first
became available 111217 730 and continued to be available 1 AnR>
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ax T"X2

By "2 TIVON TIN2 Y INW ROWR A PMITY D P weT R'n e v e T2
R 2N O3HDT 0D KON 371521 190 1IN RHWA D PMIT MR 7TV N1DD Dan
7977 KPR DT MIPRT AW 12AND "D IR MRIW NN MWD PRI TN
TIN2 27T 7797 KDY PIAT MR PO 29 RaW ang MWRP A''7oaY Pran vk 7 an®
TPITY P IR 2R 1T KDY PIRM 015D an® o e RWT pmT 3'eR as Pan
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Nj? 7T
DI7N7 DipgnNn 72N A" TN

1D IR0 2IPR MW WA RDT 9207 92 "2 2pnk 21pnn DaR 7''7a [KR Ty KRp 07
0'"9957 DO KT DY KD 71900 ;71907 DaR 2IPR N 2 RS 9N N 0T 'y
INIY Y ITIT 90 RIAT ROT IO 2R MW 2R RDT 9T 90 1anow M w'RYM
INZY RITIP ITY IR KD P07 N2 noan 209 RIT WP 0T w0 b men
N7 TRP 777 ODDT MYD IR "D 70DD 7T19D% RO MDNAT D' UMY 12NDW IR

22171 77792 7772 2wR IO BRIART RN

1) xmat's Ty
a) People who are opn mawn

b) Meaning they hear w17p in '& 2pn but later make their 77wo or are 1 imw in opn
1
2

1) 1
(1) wx> R T
(@) They needn’t make w17°p again because 770 Dpna Xow WP W
(2) W X7 o7
(a) They need to make another 11572 if after want to be > amw in 2 opn
(b) because oipn "W counts as nyTa no
(3) Note that 27 is 2p>n for wymp > but is nnn for 1 7
i) Sxmw
(1) w2 X2 W17p 70 AR because 770 D1pRA KR WITP PR
c) The xipon of the xmx according on 'R 7y

i) According to the xo7x of X"wn adds for Hxwaw that x> X% vip 7> applies
even "Rn 72 0pn? 0pnn” but doesn’t apply Xn°a 712 7109H 710N

ii) According to the xo7x of 15w 0107 adds for Hxmw that x¥> 8% wrop >71° applies
even Xn°a 7131 n1oh 71on

2) Twnn of the & naon "2 My
a) "RYY P79 A1ron opn e
3) mooin for the ko of X"wann
a) Partl
i) since we’ve established that 1> >7° is °nan relative to e 7p >7

ii) it follows by way of 10w 9> that the & nx says for Hxww on '® 7y that that
"RY YITP 07 71007 71on" which is the Xoax of X"wAn on 'R Ty

b) part2
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i) but
(1) for the xona of our 0197 on 'R 7MY that "R¥> X7 WP 7 7197 Aron"
(2) we have the xwp on why the X3 holds on '2 71y that it’s 1 >7° that’s 2°p
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7902 1D D' ROy 1D 779102 1D NAW MITIVO '3 2%vwnh 1o 37 Y '
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TMORT WD PR 2o "D 0WIIP2 DTD M1 KY2 IORD KO " XRTIPaY 1''Ta
BaR M1 K92 DORN RO RONR DWW DM 191 IR 7T N2 1 KD2 wIPDY DIORD

1)

2)

3)

4)

' mY TR WAIDR 321 "D WIS 299127 1977 1 K2 DIORD 23X 71077 AN
X713 as explained by *"w= and o"aw"
a) When 1721 made wv17p he told his o>7n%n
1) 7wy because

(1) maybe your mna will no longer be lit when you arrive at home and you
won’t eat your 771V0

(2) and even if you decide to forego your n7vo
(3) you won’t have been w17°p XX because 77vo D1pna ROR WITR PR
o"awn *"vn
a) 121 was concerned for the o>7°%n that
i) they wouldn’t eat if their m71 were no longer lit at home
ii) and
(1) even if they didn’t mind not eating
(2) there’d still be the 1 on that they weren’t &x1 the 2vn of w1
mooIn
a) Nwp

i) °"wnand a"awn imply that without a 77w they wouldn’t be wy1op &% and
they’d also be hungry

i) Why wasn’t 727 concerned that they wouldn’t be jn27 >7° &3 to eat a n7wo
naw

X"
a) Note that
i) Mmoo in its X°wp doesn’t understand >"wA to say that
(1) without a 71 it’s 9o to make w17 or to eat a naw NTWo
(2) and that’s why

(@) they wouldn’t make their own w17°p at home and they wouldn’t make
their own nmyo at home

(b) and because 77w0 D1pna XoX WP 1°X they wouldn’t be w1 op >7° RXY
with the v17°p that 727 made

(3) Since
(@) *"wn by his words doesn’t imply this 721

(b) And besides there’s no reason to think that it’s 290X to make w17°p or to
eat a 7myo without a 12
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il) Instead mooin understands " to mean that 727 was wwn that
(1) the o>*7n>n would prefer not to eat their nmwo without a 21
(2) with the result that
(a) because 77wD DIPP KOR WITP PR

(b) neither the wy7>p of 721 nor their own w17 would make them be xxv
W T
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NYTS X9 5OV 19 TIVO NYWR PP3 2OWAT 21W57 772D TIRY 19 1 MR '3
NYWY SIARD 20URY 59 W7 YRWRT 2OWAT W7 IR PR TIOT 1190 NG
TH''my 25T 2T 720 KD NID 11937 Bw YS9 N3 PRT 70
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X Q71

NTON 217 X'wiz 2" T 0"awn , 0¥ IN1NT XNYUI XINA — XNTON 21T X'AIO
"M XN A2"TE0MNATA XX AT LI T At

MIPRY AT RPT IRD2 10 IPT 2R W KD DAk 1D IpT 2w WINT KRRy aw
t2'1Y7Y 90712 PP RDOD2 RNYIMAT IDMR

Y377 Y9ODRT 1721 RO 12 193 RY 9IDR 1'% 19ORT "2 ' Xowp 7''72 2'awn
TN JTRWD YUDND 77902 PIPVT 90 IR ROTT ROWIP NP TN 'Oy "o
TTD WOR OR 1IN RDWD DAR IWANSD 77972 321 OPAY PR NON22 ATIV0 M 'R
7729 279 IR 2R DIORD IXTWD TAPRR OMRD 7102 PIVYT PRI NoN2 2w Tab
"DINT 12NDW 9577 95D JNTIVO WA KD IVTY IR NSN2 1272 KLY 190 0N
7572 27 IR NDN2 PPDN2R PR I IMAWSY TIWRT 71972 KUK WA KD YT oy

TP'TY RITOD TN

w21 5o "3 377 TR RTOM 277 2''NT X122 DaR "D 299272 XOX 7''72 'O
252y 9'"97 322977 RTOM 292 SN RY IRBR 2''ORT P 2''awn

an> Loy mTY RMONRT 12 "2 W I T2 a'awan [N 7wy ap o7
79Ua% 7972% 7' TV 2% YRR RONNTT 75 RIT RO 297N VAN AN Bwnn
N7 2N IRY B''Oy M2oyR JR NIDNRT 30 N2 KDWY MMAMNRT 120 OPIRY "1
BI9RD TIOKR K277 95 AT NON22 BAR MIZAT NON22 KUK MADYR IR NDNANT TOR

12'117Y 33200 TN2% RDT RDIWP 7T 0079 By Y9NRDT 11002 N2

"D 7Y NN 1Y M0NR 1RPR 7' 2"awn wavD 391 1o PRE» s 772 'on
POIOITS NPT KD 1IDh 2'Mawn o2 Bar TovTe a'lawn awa and w''KRYM 'y
'y

NRITA2 Y TR PRI O 7 9O 10 BN RDR NINYIM2 ININD 17907 PRI 7''NRa
19'"mY 277 Mo 'pa

T2 WRATAR Y Do "D 1M ara 7ab TR "o amtan Py '

Y% NPT DYDY H''OY 1D IRT NN AT 23 DY ARY "2 X701 207 2''n 1''72
12" AW DR 11D 2512 11997 1 9 RO 200 1R

1) x7mx as explained by o"awn
a) X701 27 says

i) If a person begins eating in '& oypn and is then opn 7w to '2 opn and wants
to be wnn his 777ox

i) Then
(1) "772% 7% opn e
(a) he needs to make a new WX 772 IN "2 DPn
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2)

3)

4)

or o127 that he ate in '& opn that don’t require a 12112 31°R 77572 —
b) for o727 that he ate in 'k 2pn that don’t req nIPM NN
meaning in 'k opn

(2) But "712% 7% PR 0P Mw"”
(@) he doesn’t need to make a 7WRA 71572 in "2 0PN

(b) for o»27 that he ate in 'k P for which he needs to make a 1572
TP TNR

b) 1"

i) A person who is oypn mawn from 'k o1pn to "2 0pn doesn’t need to make a new
TNWRA 71972 in "2 opn even for o127 for which a person doesn’t need to make
a 1PN TINR 1972

'R Xn™2
a) MnwY 1107 LAY 77120 %12
b) NR¥Y 103 1P
i) If A9 W 3P ow an
i) Y1917 1572 PIYY PR PN Y
iii) Where "y1on%" means a new n1wxA 7272
Rapiab}
a) Nwp to X707 27

i) The words "37°%31 193" in '} ®n*>92 suggests— for reasons not relevant here —
that the xn»-2 deals with o>127 that need a 1 pn2a 179X 7972

i) And
(1) since the xn»M 1 says there’s no need for a new ;1372 when 1111 only where
791 R 1pT aw w37 and it’s more 7anon that there was no ny7 no’y

(2) we can be P11 from the xn>92 that if 7911 W 37 1°17 X7 they do need a
TNWRA 17972 even though the xn»92 deals with o127 that need a 71972
TP 1NN

b) note by the way that
i) for oypn »w from 'k 0P to "2 opn where there is no 79117 to 'R Dpn
ii) It’s not 7w to say that "% W jpr aw wr" to whom they were amin
0"awn
a) Nwp

1) X7OM 27 says NoO new anwKA 1572 is needed where there was a op»n »11°w from
'R opnto 2 opn

i) Why is it a x'wp to X701 21 that the xn>72 says a new 71w 11572 is needed
where 1111 to 'k o1p7 and there was no opn "W to '2 opn

b) y»n
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i) For a reason not relevant here it’s more 12no» not to need a new AWK 17372
in a case of 'x @pn? 1711 than in a case of oypn wow from ') opn to '2 oIpn

i) It follows that
(1) Since '} xn»12 implies that a new n1wxA 17972 is needed for 11

(2) It’s a 1w 9> that '& xn»92 would need a new nnw 1972 where there was
ah e lRah i

5) np1onn of "awn and mooin by way of "2ax 777"
a) o"awn

i)  When '} X092 says "y7on? 1372 Py

il) 'X &Xn>12 means that once the people mentioned in the &n»91are nnto opn
'R
(1) they first need to make a 73191 7272 in 'R 2pn on what they had already

eaten before they were 37°237 99w from 'k opn

(2) and only then do they make a 2w 11572 on what they now want to eat

iii) mooin at 177 nR 7"7 says

(1) There’s no need to make a 771K 71972 on what they had already eaten
before they were 171237 2pw

(2) They only need to make a nnwxn 7072 on what they now want to eat
b) Note that

i) for oypn "W even o"awn agrees it’s a M ws that there’s no ANIAR 7272 N
'2 0PN

i) Because we’re dealing with 0127 that need a 12p»2 17°9R 7572 meaning in
K\ gahiza)

6) X"wonn at xnvo "7
a) 'X &n»92 has a xo°0 that we haven’t mentioned to this point
b) Here is the full wording of 'x xn>>12
i) mnwH pa1on Yaw 7720 1
i) nR¥H 377939 1P
(1) xwm
(@) 121 W Jpr ow I
(b) ¥91% 1572 PNYY PR PN W
(2) x>0
(@) 79w R JPr oW I R
(b) ¥1517 71972 PWL PN WD
c) xwp to the xwp of the X
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i) why does the X3 need to be p>>7» from the &w»n that 37°19% 7592 pawvw if &5"
"9 IR JPT oW I

i) when the x9°0 says this directly
7) X"wann at x70m MY Xowp A"y
a) Nwp to 0"awn
i) nnTpn

(1) We’ve established for o"awn that the x*wp from '} &n>92 is based on the
771 that

(@) It’s more 72anon not to need a new 71072 in a case where 'R DpPn? 1IN
than in a case where there was oypn "1°w from 'x 2pn to '2 opn

(b) It follows that

(i) since '} xn»12 implies that a new 171072 is needed for 1717 where X
NI TPT I

(ii) it’s a 10w 9o that '& ®n>>12 would need a new 11572 where there was
o 1w and there can be no "7 X JpT ow A"

i) xwp

(1) But for o"awn nuw that where 17117 they need to make a n19nx 7572 first
and only then do they make a new n1wxA 7272

(2) It’s not correct to say that where 17117 it’s more 72n0» not to have to make a
MWK 71972 than for opn MW

(3) Since it’s a mv>w» that the 37°71% 71572 for 1711 counts as a 77wo “ma and
that if they want to eat what’s in effect a new 770 they need a new 17572
TNWRD

(4) While for opn »w
(a) where we’ve established that there can be no 71MX 7292 in "2 2p»

(b) it’s possible that the ¥n>92 agrees with x7or 27 that no WY 7972 is
needed as well

iii) Keep in mind that

(1) this isn’t a ®*wp for Mmoo who disagrees with a"awn and says that also for
17117 there’s no need to make a 71X 7272

(2) since
(a) it follows from the fv>w of mooIN

(b) there’s no 77w 1 for 17117 the same as there’s no 770 Tna for "w
o1pn to "2 opn

(3) and the x>wp of the X3 to &70m 27 stands on why 'k xn*92 implies that
there needs to be a new nnwxA 1592 for opn "W
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8) 'axn»ra

a) a7 ' and a7 7 137 are P on whether a awRA 7902 is needed for o027
that need a ympna °NK 1572 in a case where 11 after they were o230 9w and
79I IR JPT QAR AT R

1) 777 " holds that a 7wka 11572 is needed
il) 777 "7 7127 say a AWK 70072 isn’t needed
9) X
a) y1nto the Xwp to X701 21 from 'k ®n>>12
1) X70m 27 can say that
(1) ') xn»m2 follows 777 " in 'a xn»M2
(2) The 9%nn of x7om 27 follows 777> "7 1327 in "2 XN*M2
10) qwnn of the X

a) We established that 'a xn>1a deals with 17737 1Py and we mentioned earlier that
17937 1Py implies that the persons were eating 0°127 that need mp2 170K 7972

b) We also established for 3111 ' that 21pn "1°w needs no A1WRA 7572 in "2 23p» even
for 0>127 that don’t need a 1pn2 1°NKR 7072

c) Nwp to " from 'a kn>o1a
i) Even a7 "7 3127 are Hpon only for yaipna 17°9nR 1572 1PveT 0127
d) y»n
i) 71 "1 says that 'a xn»92 deals with y23pn2a 37°08 71972 PIYLY 0127
(1) not to limit the X7 of 773> 17 1327 tO 1IPRA J°INK 71972 PIYVY 2127

(2) but to teach that the xmn for 777> " applies even for 0>127 that need 71572
TP NN

11) o"awn
a) Nwp
1) 927V XD RN
i) It follows that
(1) If jam " is correct
(@) the xn»92 should instead have emphasized the 31297 83207 1D

(b) who according to j3m " don’t require a 71w 7372 even for o naTthat
don’t need 1M 1IN 1072

12)5"wnnn
a) Nwp to o"awn

i) It’s a7 " who’s 5
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ii) because he permits a 7wy 7592 and doesn't say it’s a 79027 1972
b) v n
1) "7 " still counts as a 2 nnn because he requires a 71572
c) Nwp
1) That’s not relevant because N2y J°8 M272
13) R"wann
a) y1nto the xowp of H"wann
i) The rule that m2oyn 1°% m212 applies only to mMgnn no72
il) But for 11737 n>72 there is an Mo°R to eat without a 71572
iii) So o"awn is right that it’s 31327 who are 5p°»
14) "3 xn>12
a) TWRI 71972 7127 PO PR 1M T 1P 7 MDY 17201 Yaw 20130
15) R
a) '3 Xn»1aisn’t Poma between g9 IR PT oW W and a9 NPT oW A RO
b) and so is a "X to X70M 27
16) o"awn and also &%& 1"7n as explained by X"w-nn
a) Nwp

i) Why doesn’t the Xn3a say that 77717° "7 7327 in 'a Xnp>>12 are also y»on to 29
X701

b) y1n
i) '2xn™2 doesn’t say outright that it deals with 1212 179908 7372 P1vvY 0127

i) It says only "11237 1py" that xa says implies that 'a xn»92 deals with o127
TAIPNA JOINR 1972 PIYVY

iii) As a result
(1) Although

(a) x701 21 can answer the xwp to him from '} Xn>12 by saying that he
agrees with 77 17 1329 of 'a Xn»92 and that 'a &kn>>1a deals with 20127
1PN TPINNR 71972 PIVLY

(2) still

(a) ®701 21 can’t prove that 'a Xn»92 doesn’t instead deal with xw 0°727
TAIPRA TINR 1972 P so that 771 "7 1327 support 1 " instead of
X701 20

iv) While

(1) '» ®n»92 says outright that it deals with "y 1w and 1> is a 17272 PYvY "27
TAIPHA TNR

45



(2) So 'x &n>1a s a definite Xny>°d to X701 27
17) mooin at "nmd X°an 7"7
a) Nwp

i) a3 xn»2 deals with vt and says that no n1wxn 7592 is needed for o127 that
need 121pn2 1NR 71972

i) How is "3 xn»92 a X1 to X707 21 who says that no nnwxn 7592 is needed for
0°127 that need 12pna 171°0KR 17272 even in a case of apn »w

18) R"wann — X2
a) Partl

i)  When the & nax asked its x°wp to X701 27 on opn 1w from & &n>>1a that says a
TNWwR 17972 is needed for 1

i) we noted that o"awn explains that the x*wp is by way of 10w %5 because it’s
more 7200 to require a AWK 712972 for 2pn Mew than for 11

b) part 2
1) but still mooIn correctly asks here that

(1) for the very reason that it’s more 72n0% to require a 1w 7272 for "rw
opn than for »n

(2) the fact that 'x xn>>12 says for 17117 that there’s no need for a n1wK 7072

(3) isn’t proof that "x xn»92 would say that there’s no need for a 1WA 71972
also for oypn "w
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A2 Q71

NN a"Tn"awn

PRIODAT 190 KTV 9299 19O9RT "2 3799 '7a 2'awn wp [2 Ty ap 0T
M YT RY DAk NIDOINT 12N MR 21971 ''OY MDD NR TR IR NNPY TR
MR PRIY PRT X7 ONYIN PIOK KD NOR RO IWPRIT RRONRT 0 anen
RT717 "M% 1 79D DR RN5R NN P RNDR RIR P2 M0DD PO KXY 23 nYvhan

1)

2)

3)

4)

DRy 2R wn
NN72 0N D°20 2% NMNAW °2 Y
a) Foramm "™

b) A person who began a 72 nmwo is 097 at 72>°wn to make w17°R on one 01 and
to be 1"nn2 7727 on a second 01

X713 as explained by msoin
a) Nwp

1) Why isn’t one 01> enough for both
b) y1n

i) nY2am m2oan NN PYIY PR
c) Nwp

i) Butonu"y that’s 51 on naw >xxmn

i) The same 031> is used for both wvy71°p and 1717727
d) y»n

i) 79727 and iR count as Xn?on T

(1) Both are based on the 7w17p of the o

(2) Since even the 12721 refers to the nwy1p of 2w o1 in the words 1°2 5 7an3"
"WIPY WP

(3) And that’s why to be 7121 both wy1p and 79727 on one 01> doesn’t count
as Mm% an m>an

i) But where there are >n%*» >1n to use the same 01 for both does count as m>»an
m>an

a"aw" and mooin
a) Nwp
i) wrrp relates to naw v a7wo while 1 nona relates to 5 >w a7wo
i) How could the jwpn even think that one 01> can be used for both
R"wn
a) Nwp
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i) The ywpn didn’t at first realize the y1°n of m%an Mm% an nxn PYw PR
ii) Nor did the jwpn realize the difference between xn%°» X711 and >n%°» >7n
iii) So
(1) Why do o"awn and msoin ask “How could the jwpn even think that one 015
can be used for both”
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2'0NA Dn " TN
|

"D RN 2T DR NOPYA OB PRroopnT Db mohin 1D PR A T2 'on
ARY "D IR DD ROINTD MWD PR RNAWT RO RNTIVO NOHT 2wt 5oy
TB'"'mY WTPMY IO DD K2

1) First nnTpn
a) Fornamm ™
i) Even if a person begins to eat 7n°72 on naw 27w
i) At no>wn he must be \)n7wyo pooon
iii) And
(1) according to one xona he then uses one 012 for w17 and a second 01 for
1"n72

(2) according to a second &o73 he then uses one 01 for 1"»72 and a second 013
for vrop

2) second mnTpi
a) o"awnat:pAa7at amm "o R "7
i) In the times of 5"m they would be 2w the 77w before 1"n2
3) Third 7P
a) In the times of 5"m
i) Before wvy7p they would be apw the 5w or be 9% o7 on the 5w
4) nmooin as explained by X"wAn
a) Nwp
i) For the second xona that says after poon he makes 1"ama first
(1) We understand that the second m7p applies and that’s why he’s J7%w pw
ii) But for the first X0 that says after poon he makes w7p first
(1) Why isn’t it enough to be 1751 05
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D'ININ |'RY 2" TN

T'"ATa Pa Phah wOT HRY oY 10 2OnYD T712% 1101 IR 9D "D 2R PRY 1''7a
7''D2 2OMYD "2 PON2ART PRIV POIIR NOT2 I VAT 1AM 1°2) M0 avaun
29! my
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ITAA ANXY? Inan 2" TN

BIORD N2 'R D12 ROR 1D PRWD DaR 10 2372 IRTI7T 2" KUK 10 7IRD oI a2
PRT PRA "7 905 10 RWPT ORRT PATY PRAP JNTIT PIPTY w0 5oy "o
WY 35 9ITAR YL WMIT MOON2 AVUR MO APV IBRT RNV TR 70D
7O RIAAY PRI IR 2TIP NI DOIN 'R 210 KUK W PIRAT ST PIONR e

:2"'97Y TIOIN2 HITAN BYUN SR

1) 7P A72 X3 X2 RN™M2

2)

3)

a)

b)

Naw >R¥12 N2 01017

i) Donwan 3 MR oYY P By 71an
i) 017 %Y 177727 MR T2 N

TMR D12 ROR 1Y TR K

1) PR 1910 PwHWwm T AR N

JP 972 R

a)

5°72°W O7P QWL DTR? TOKR

moaoin

a)

b)

d)

Xowp
i) When the xn»2 says it’s 1an InR? that the person should make 77725
i) The xn>>12 in effect is telling the person to be oy before 7%72n

717°n of 1IR3 o°01 1172

1) The xn>12 means that the person is 1 his 77wo before 72°wn that’s the a1 of
m272n

Xowp
i) Since the xn>92 doesn’t deal with where a person was Mo°X2 ayw

i) how does a later X3 prove from the xn>>12 that a person who was mo°x2 o3
before 7%727 needn’t wait until the morning to make 719721

v17°n of SR 11020

i) In fact the xn>>1a directs the person to be 2= his nmvo after n>°wn and before
he makes n%72n

ii) Because

(1) in a case of need

(2) such as where there is only one 01 for 112 and 79727
iii) It’s 7 to eat before 75720

4) X"wann

a)

WP
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i) but the end result is that he is ann to be oy
il) so the xwp remains
(1) how does a later x»3 prove from the &n>»12
(2) that
(@) a person who was M0°x2 oy before 79720
(b) needn’t wait until the morning to make 757271
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21 N " N7 A" TN

"1DY S1RRAT KA ITIPOR TIMDT TIN02T T 10 3'MIP0 29 MRy 9 KT 7'
AT DWW PWRD V2T KA NI NIV U0 NORT 2 7M1 TIDT RAR PR oy
19 PY TTIND IDTMA2 77T IO R2IW NIVID 1P PPRT TIOR NI IR

1) First nnTpn
a) To answer a X*wp whose details aren’t relevant there
b) The X3 answers that m%°an m%°an N PYIw PR
2) Second inTpn
a) Xn»2
1) D127 5V 72727 I 2R ... 107 DY 7721 NAw SRXINA IN°2Y 01017
i) POY MR N0 SWHWnY NNA NKRY 11 TR 010 RIKR 1D PR ON)
3) X
a) Nwp
i) The xn>12 proves that m%°an Man Nxn Pww
b) yn
i) IRW 9 PR
c) xwp as explained by o"awn
1) 7"1p° 27 MK DAY ORXINA NP2 HNw 210 01 R

ii) And presumably 27 deals with nos w pwxn v where there are four mo1> so
"5 R

d) y»n

i) Since 21 says n"3> and not 173 it can’t be that the Xn>>12 deals with v"y
noo Hw wr when there is yar

(1) But must instead deal with oo @ *y°aw where there’s no 11
(2) and
(@) noo Hw sy aw counts as " PR"
(b) because " 9°ox 125" to the Mo '7 he had on nwx- 2w av
4) mooin
a) Nwp

i) If o"awn is correct that the x>wp of the X3 is that 21 deals with % n°} because
on oo YW MWK 2w av there are always four mo

i) Then

53



(1) Even if 21 had said 1"n1p> the x7»3 could have been 7197 the ®*wp from 29
by saying that 27 deals with nqgy *1»w where there’s 321 but there are no "7
mo

5) X"wann
a) mooin could also have asked that
i) Ifa"awnis correct
i) Then

(1) Even if 21 had said 1"n1p° the x73 could have been 79 the ®>wp from 21
by saying that 27 deals with Pwxa 210 210 of M0 or of myaw where
there’s also jn1 but there are no 101 '7
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AP 7
"' " 2”7 0"awn 7" ANk N1 xna
1997912 Sp H'op "5 2w PYR MR RT3 P 98K 72 772 2 awasa

RATORIT DY IRTI 7707 DR 1D MINR RPR 1Y 2TRR RDT ORT " 9D ''ap a''Ta
D972 PPRINT R''ITT WITOP ORPR A1 D RTPR T D'RT b X7 oy "o
TH'"mY N9 D2 hTanh v 2

O PR AIRD KRR YT RN 12 A MR wTRR aTp ' e a'pr '
M1 %Y KRR 7 9N FTRMN 12 77371 VTR RAPY IRDAT D7 RN Do "o mhTan®
FIRTI 7O RDWT 9D 20 aR7anR 190 P2 PODT IND Y D''NRT "D RTan® Y 2
B TR RTPR WATIR ROODT RALYAT 2RI AR 779727 Y KDY wTRn Yy P
T9MN 12 57371 TR AYVR 2ITP TINKAT WIS 2" awn 27 o P 7 Reb yap
At bl

1) xnaas explained by o"awn for naw *Xxa NI 5w 20 v

a) 27saysa"p»

b) 121 [ for another xoM3] says 1" 1p

i) 721 basically agrees that wyp goes before n%72n

i) But he’s 1 7m0 to 79720 because 19727 was i mainly for 1 while wip
can be made on no as well

2) o"awn
a) Nwp to a™p

i)  Why not be o>7pn the 7592 on 7 to the 17092 on 11 the same as on every >Xxin
naw

b) y1nas explained by R"wann
i) Even though 1> would be after w17p
i) we’d still make a myv and say that
(1) y~is for wrp instead of 77720
(2) And that
(a) the reason that 1> follows w17°p instead of coming before v 7p
(b) is to separate wy°p from 75727 as far as possible
3) Twnn of the & na as explained by o"awn
a) "% [n2 for another xo73] says "pa
i) Partl
(1) % basically agrees with 21 that w17°p goes before 75727
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(2) And he says 1> goes before 19727 for the same reason as 721 who says
"R

(3) But he adds that 21 goes before w17p because "m%nn 12 nam"

i) Part2
(1) xwp
() Why doesn’t he say 11" where 1> goes before 11 the same as on every
naw >R¥IN
(2) yrn
(@) "A9727% 1 172 PO RO WO 10 DR
4) X"wan
a) First 7oxw
i) Why doesn’t o"aw" answer that =1 is first because "i%nn 12 mam"
b) Second noxw
i) what does o"aw mean by the words "7%72:7% 1 12 P07 IRD W 10 OX"
c) mawn
i) 2"aw" means that
(1) One reason that 21 is first is in fact because "7%nn 12 7am"
(2) But even without this oyv we’d understand that 11 can’t be placed between
1 and 79727 to yield n"rp
(3) Because if so
(@) There’d be a pooi1 between 1> and 77720
(b) And we’ve already established that a poo;1 between 1> and 777257 might
make it mistakenly appear as if 1 is for v17°p instead of for n%72n
d) xwp
i) Then why is it that on every naw *xxw we do place 11 between 1 and 79721
e) yn

5)

6)

i) There is no w7 on every naw "Kx SO it’s clear that the 1 is for 7572

Twnn of the X nax as explained by o"awA

a)

One anRT 18N says the 970 is p™m
1) s first for a reason not relevant to this 8"wAnn

X"wAnn

a)
b)

The same as o"aw said for 7"pa
o"awA could have said that 1 is first because %m0 87 17 7373
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mYyT un X7 2"

B'"'oy "o AN 2OPDN0R 1T Thank R'S 012 797 KD "D WP N7 KD 772 'on
WY DTN WADR T2 NINWD 19D TPORID 197 KDY 2 297 1977 RNIBA w0 n2aT

1) nntpn

a) A person who was 1 015 nnmw and was ny7 i°on from drinking more 1> needs to
make another 17272 if he later decides to drink more 1»

2) X

a) X217 said 1937 °99 X2 on 7 during a nmvo and after 1"m72 he made another 7572 on
1"%72 01

b) X237 explained that he did so because this was the rule in km>x w1 °22
c) xwp as explained by o"awn

i) xm9x w21 s different because guests don’t know whether they’d receive
another 01

i) And that’s why there’s ny1i1 no n before the 7572 5w o1
3) mooin as explained by x"wann
a) Nwp

i) The 720 of o"awn would have required that xm>x w1 *22 they make a new
17972 for each 01> even during the 77vo

b) y1n
i) Contrary to the 7v w of o"awn
i) ’m?3 w1 "2 they knew they’d drink more 1> during the nmvo
iii) But
(1) because there were many people present

(2) they didn’t know whether they’d be able to drink from the one 01> that
would be used for 17572 w 01> before 1"n72
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TAYT XAX 0" TN

MR TV MMM RS 2OR2T 29927 NIDN22 JP0D RIT D MTayT NIN 7''Ta
TTIVON MRY ROR 9577 2'HDT MIDOINT 1anD Potan T pupa B''ay "o aTwvon
DA QOR2T 2YN2TR PU2Y TV DA KPR 29R2T 29727R U2 NP XD 1Y N
2o 2RYDT T2 2R TV MRD WIDR V2T T 2T 22T MIONY ITIWON

PMITY AN wan KDY R RAD anT 0N TITT 1M D TR0 nann

1) mooin here uses this X073 for a X3 in M572 ('R XOTM):
a) TINRY 197 7972 PIVY ATIWOT MR ATV Name RYW 0°K27 00727
b) It follows that there’s no 17272 for 770 Nk 0°X27 027
2) Moo in M2 isn’t 03 the words 7w N Row in the Xmain M>72
a) And reads the & na this way (2 xo73):
i) 70K 17007 11972 PIYY 370N IR 2°R27 0027
b) It follows that there is a 7072 for 77w niann o°8an 0927
3) MODIN ON our XN says
a) NI ATIWO NAMAT 1LY 727 TR PR TIWOT INROW
4) R"wamn
a) Here m»oin obviously follows 'k Xo7

b) because 'a X073 would require a 7272 for 77w IR 2°%27 0127 even for things
that are 7 7wo nnmn
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AP 71
"% 910 X7 "7 "X XA

N'RY "I WRAT TR MINR ATRAY PR 0 R 20 KD DR R [2 7w ap 0T
TR 927N POV 12 NI02R INY 1D WD WD NART NN 10 20T XY ORBN

29! my

1) xama

2)

a)
b)
c)
d)
e)

RAIWA TPIAR PORTRY PYRWw Op P17ARD X2 RLA 0D
P1AR D727 XA RAW 77 W0 020 077 2Py M Y R
702V Rp RWOIT RNYTA “Ynaw X277 0K

TP1AR T2V 017 RD A7 PR YR K7 OR 2pY0 ' 5D R
727 A MR 797279 TP1aAR X271 Y R

X"wAnn

a)

b)

Xowp
i) why didn’t X271 answer from the start that an2m:7 72 mxn 797202 PR
y17°n based on >277n
i) There are two aspects of the 7?1287 1°7
(1) amavan g2 mxn ap1aR as a general rule
(2) But np1ar isn’t an2n 12 mxn where there is already a xxw
i) now
(1) 2py° "1 didn’t even know the general rule that amavan 1 mgn 71
(2) But x21 at first mistakenly thought
(a) that 2py> " knew the general rule that am2wm 12 mgn AR

(b) and that 2py° "1 questioned only why X217 used an 1128 where a Xaw
was already available

(3) And that’s why &27 answered that “ynw changed to an ?1ax on his own
without asking &2

iii) But
(1) When 2py° " continued and said “Your servant wouldn’t even consider
using an ?1ax unless you had suggested it to him”
(2) xa

(a) realized that 2py> "1 didn’t know even the first rule that 2 mgn Ap1aR
B Baiymhiah

(b) and understood that he needed to explain this rule to 2py> '
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mwumY pY1ox a1 n"awn

19977 NDT2 v01ah pa KRBT anD v AMI2Y "D nwnb 195 MeR 7''72 2'awmoa
PIARY 77972 NTOR YR AT NPT SIRNI WNITIDR DO AN NON2 INRD TV PININD
WURTT R0 AR IARY 23 1IMRD 719N2 w2 KD A nYTRT XNO9Y 1R NNRD

TH''mY PR NIBDINT 'Y MR 0TI

1) x7m as explained by o"awn
a) T° MNWY 0K 720 17 27 MART 0
2) o"awn

a) Still there’s no nnanx 7972 for 77w 702 1 because 102 is effective the same
as mnInR 7972

3) M7 Moo
a) "7 Na72 NKRY 7Y IR P N1 901127 wa KL
4) X"wan

a) It’s possible to understand nY2173 M%7 as saying that the ananx 7572 for N2
amvon is after 1"ma2 instead of before 1"a12

b) But >>7m w"x" both understand m2173 n1o%:7 to say that
i) there is no 377X 71972 for amwvon 7n2 1 at all

i) And that a j7°7n% 712972 is needed only for the 71572 Hw 012 that people are nnw
after pnn nona
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WX AN

K97 "2 77''52 SITAT MRW MW D122 P72 RANR 'R N''RY 1D WK 21 1772 'O
PODIT T MR 292 B KD I NON22T 23 BY AN Doy 15 Ko7 ARTD oD M
23 WK 2T PSR PoDIT RN RY TATT anMwp R 70 nwnan 'nyT T
2''91 MDD YaIR 923 {17 MATR 1R @R POMY 7TAT 028 »'R yaw ' ama
7792 25w 192 T72Y XN 010 WY TAT RN EK P '0wn MaTa 77 B yanw
U N0 RO MRPTD PODT M7 T2 TN 1A 012 RRDWA PWNRN 01 DY
DNT20 DD TTAT 023 P''OD AR SR 29TAT AR TN PRI MWK 2R 2057 INRD
RN 707 ORAY 7''52 T712% KPR PINR D102 10 mwpad »2'aT A" X
1AM 1A DR PI0DK DO TATT BO57 KA 2NN PODT M7 KD RO 17T
" my 37T

ANWIRD 1T RO "D MBI RMI2 MIPT° MR 728 TR PORT TAT RMIT 7'N2
MTT ANTMWID RITIAT N2T2T RN 7 AR MWD 1IN NPT STATNRT D K27 P
J3APY 79 2"'awn B2 ROTY TIVON NARR 2ORAT 29927

W 2197 H''oY "3 W Do PIT IDAT PY Mo "7 B2 MR TM2b aNN1 2nm 7''Na
TR VIR PODIT YNTT MDD INWA 2'RWH DTINAA 191 ITIWONT TINAW PT WD
0157 DY 1ARD 1927 IO 72 PRI RN DaAN 1 aran s

1) X
a) WX 21"

i) 717 no7a doesn’t count as a Pooi and there’s no need to be 1937 °75 X712 7120
on a 1572 Hw o5 that a person is anw after 1"nna

2) n"awn as explained by m»oin

a) The 3% is that 1"»m2 is a pooi7 and there needs to be 1937 >99 X2 nona for w 0w
7002

3) mooin as explained by x"wann
a) X1} Mg of mooin
i) Although we’ve established the 75777 that 1771 372 is a pooi
ii) Still
(1) s 990 that’s said on oo before '2 013 and before '7 ©15 don’t count as a
bl
(2) And have the same 17 for us as 112 has for *wx 29

iii) there are o>mo0 of MmooIn that set out this mx»2 of the X1»x M7 more clearly
than in our o°0197

b) That’s why m»oin in its XK 717 asks

i) Since there already is a 1937 *75 812 for 'R 012 on nod why does there also need
to be a 71272 on "1w 01
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4) X"wan

5)

6)

7)

a)

b)

Moo means to ask the same xwp for '7 01>

1) Since there already is a 197 *75 812 for '3 ©15 why does there also need to be a
71592 for '7 01

But mooin accepts that
i) Since the 7o% is that i nona is a podn
ii) there needs to be a 1937 >99 X2 non2 for the 1572 5w 015 that is 3 01>

Twni of mpoIn

a)

b)

XIpOn

i) 7927% in fact x990 do count as a poo:1 and that’s why there needs to be
1927 >0 82 for "2 o0 and "7 012

ROwp
i) Partl
(1) If the xnx 7 had been correct that 7737 %91 don’t count as a poon

(2) We’d have understood that the 7787 *19 X712 for 0975 that a person eats
before '2 012 is also X*x1» the 17 that a person eats after '2 012

i) Part?2
(1) But now that we’ve established that 77371 9777 do count as a pos:
(2) We have this xwp:

(3) what nnwxA 7272 is X% the 7 that a person eats after the n7am 59 that
is said before the second o013

717°n based on %°ox 771 77 MooIn at awp a7

a)
b)

The ®>xi7 nona after 'a 015 is "vId the 71

Because m1n counts as "amvon nann 77800 TIN2 o' 0°127" that is qwon by
XX NO12

R"wAn

a)

b)

Note that

i) for mooin nuew that 7731 %97 count as a pooi and the 17592 on ©975 won'’t be
"9 anything else

il) It follows that there’s a 21°11 to be mw»s1 k12 7721 after eating 0912
For the same reason

1) mooin requires that there be a nnank 171572 after every 01> except the second
because every 015 except the second is followed by 7731 5917 that counts as a
poo; for whatever he eats or drinks afterwards

i) But
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(1) For the second o012 there is no nAnR 7572

(2) Because the second 013 counts as a 77won °197 11572 that can be 1 v
that’s 7707 7102
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21 NI A" TN

RY 79727 IR IR IR 9oy 12 m10ab 1Y upon K97 PTT "D 29 Ry a2
792 NMORT 1'TANTA MWD PO0DR IRT ORTY NIDN2 1A M RDT 100 TR RWp N
Y IPN® BT MIDNR AT M 1T OWR 297 70 N7 aMapha AR miona At

SP'TY 11 7AR D 1NRY 7' P2 popiT 2" M R9T nI0ab

1) X
a) WX 27 says that man nd72 isn’t a poo:

b) It follows that if a person makes a 2"7192 for 77907 732 1°° he needn’t make a
A" for 7372 Hw 01

c) Here’s proof as explained by msoin at 21 k1 7"7
i) 7"1p° 27 MRPY N2WT AR N2 ONw 20 2 RIT
i) Namely
(1) He says 19317 7 &2 no72 first before the other m>2

(2) And we don’t say that the 7592 needs to be made last after %7257 to avoid a
»oo;1 between the 1072 and »nw

2) X"wann
a) Nwp
i) Why doesn’t *w& 21 bring the same proof

(1) from every w17p where 19377 19 X2 is said before the 7572 for wh7p and
not afterwards

(2) and from every 797217 where 19371 >0 X712 is said before the 7592 for n%72n
and not afterwards

b) v n

i) Inastandard w17°p and a standard 779727 there aren’t as many m>na after 712
19377 »19 as there are in 1t no12

ii) wx a1 prefers a proof that there is no posi1 even where there are many n1>72
after 3"92
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TP Q71
MY 'wa a"n
T 2w N2 MY NRwR PIAWT 2% DRI "o mmb owa a''Ta [R 7wy R o7
ST ORRT PIRITA RO T PR 2oy "1 ' naw pvm T MMOR NAWRY TIanT NaT
2NOW DI TR 21 MM "W TR PR IR 2 2Y RIT V'R naw pen
NS 779 WM AN DR 290 R TIaR "272 PP K17 A7 DR 2w avT w7
TTAINM PYAT 100 2N KD TWYNANT MY MWD AT 2Y° P27 RYN RNNIN 77070
DOAR AT TV DTN IOV 23 'Y PINT I TR 907 M1 DR AT MR Rnbya Ko
By A
1) X
a) NVLIR'"M
i) T oY AP0 XY 920mMM " Mno XY 777272 Mo
b) xa
1) "wynn o nww? Sy aws v 1A counts as anenn Pyn and isn’t included in the Pan
ii) that’s why on a naw ¥ that’s not %r1 on 21w oy there are
(1) three m772n
(@ 2> wp 2
(b) qwn> MK 2
(c) oy PRI Pa
(2) mmenm pyn
() nwynn on nww? Sy aws v Pa
(3) nmenn
(@) 2% wp 12 P7ann 0"Ra
2) moown at M’ van"y
a) on a1 says that on v that’s 51 on N2w XYM we’re 3711 to say
i) seven m%7an
(1) »m wp 2
(2) qwn> & 2
(3) oony? SR 12
(4) nwynn ne nww? *yaws ar Pa

(5) The following two m>72as that count as one because they’re both pomn
between naw and 2w av

(@) n%727 20 o NWYTPL NAWw NWIP P2
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(i) on w192k noxY» that’s Mok on naw and N on v"y
(b) nwp AwYRn M MWW S¥° AW 01 DR
(i) On 7287 727 that’s MoK on v™™ Naw and is AN oN 7T
(6) TNwTRP2 PRAWS 7Y DR NWIPY N7
(@) between o170 and o7
(7) TnwTR2 YRAWS 7Y DR NWIPY N7
() between o7% and o°Hxw»
i) mnenmpyn
(1) 7nwTPa YR Y DR DWTPY 19720
iii) mmenn
(1) wIph wp 12 »7ana 0"Ra

3) X"wann

a)

b)

c)

d)

Xowp
i) Since maxa 127 is Mox on 2w ar as well as on naw

ii) There’s no 777277 on T2x7 727 between 2w o1 and naw
But the v w of w"x~ answers this X°wp by saying that

i) 7287727 counts as a separate 72727 between "y awn 0" - meaning NIAR vy
A 9w —and "awynn o nww" — meaning T3 Sw 110 that comes before vy
AW PNONR

Xowp to w"K)
i) Since
(1) n%727 20 o1 NWYTPL Naw nwIR 1A IS PP between vy and naw
(2) And nwTp nwynn M NWwn S aws oY R s ponn between v and wna i
i) They ought to count as two m%72:1
iii) So there are a total of eight m%727 instead of seven
77N

i) Since we’ve established that "wynn "> nwws >y°aws or Pa" on a regular naw
is n°nn 1yn and doesn’t count towards the 1an of m>727

i) We also don’t count nwyni1 »° nww? *v>aws av 12 towards the Pan of m»72n on
naw >R¥IM2 N1AY SRw 2w o

(1) even though

(@) the s for naw >xxwa n1a® Hnw v"y is in fact a separate 79727
between 21 o1 and 7vna I

(b) and isn’t mnennn PV
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4) Here is a summary of the mww of an 1127 and w"k" and a separate nvw of *>77n

DTN w"R an 1
121 0K N2
n n n DI wIp 112 97ann
N N N U IR 772
non non non 7YY KR P2
797270 W1 R N0 YN W 1777270 Wn R VIR 7 NWWS Y awn ov P2

19 N2aw 12 PYTARwIT
77PN YA 19K 07971 XONR

awyna

RT3
7127270 2WN1 R NN PYR | W1 99IR PT2 0" Naw PN | wol DR PTa v"n maw ;v | 210 a1 DwIp Naw nwIp 172
(¥y27x) ('R Pon wnm) nY7a7

M DWW AT PRI O PIon
(¥27R) PR TN N

A1 9w PR 0 2 7190
PIDOW TV N 0 nwwn
(wnr)

S nw a2 v"vn naw pYon
wnn) TART 1272 1 TN
(apon

Y DWW "¥awa 01 NXY
nwIR Awyna

21 (Wnn) o9k 030 12
1M (W) 2R 0710
N0 PYn

21 (W) 272 20170 12
M (Yaw) 2R 0710
TP N0 YR M

2 (W) 272 20170 12
M (Yaw) 2R 0710
TRPN0 YR M

DRI 7Y IR DWIPY N27a0
INwIPa

nY727 9Y) yaw on annn
(o°w1p "wIp? wIp P2 Nd7

NN

NN

WP P2 97200 T AN T1N2
wIpY
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oI’ "2 2" TN

R 5'"oy "D R2OND KD K77 0RD %M 7 21" R ARONM PYR "D 2 Pa a''Ta
PYRT 712000 KD Ri7 709 SWPN KD X7 729007 1PYAT RIT XRLRIPT 1190 27027 N1an
199 79D KD 2779Y PN DD 1A TRWPRT NN20 90D P2 N7 R1IMR KDY RO RONn

T9'mY RTIT 7Y R R RO RDT R RIIAD KDY RT 770007 PYAT 1190 KON

1) First nnTpn

2)

a) A person can make either 3 or 7 m%72:7 on any naw "X

b)

wYnT 7Y NWwh v aws ar a2 doesn’t count as one of these M?727 because it’s Pvn
annn

Second 7P

a)

R niizak i)
i) mM>727 count towards the 111 of 3 or 7 only if they’re "x2°n3"

3) Third an7pi
a) A xn»na lists eight m>72n that include 729n% o5 a2 and »° nww? >y aws ar 12

4)

owyna

L qlab)

a)

b)

d)

First xowp by the ywpn

i) 72779 0°7 Paisn’t 72°n2 and still it’s listed among the m?727

ii) so it must be that n97277 don’t need to be ¥2°n> to count towards the 1211
'aRbY

i) Notso

i) mM%727 count only if they’re 72°n3 and you’re correct that this means that 12
7291° 0°77 can’t be PIna M

iii) So erase 72712 o°1 12 from the xn»12
Second x*wp by the ywpn

i) if you erase man» o 12 you’re left with only six m»7277 because >y awn o1 12
wyn n’ nww doesn’t count as a ;17727 since it’s A DM PR

i) And
(1) Based on the nnpn
(2) just as there can’t be more than seven M%727 there also can’t be Six M%727
Xipon by the ywpn
i) It follows that m%727 count towards the 1 even if X2°n5 X7
ii) Because then
(1) man? o° 2 isn’t erased and counts towards the pan because
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(a) it’s not > nn PN
(b) and it doesn’t matter that it’s not X2°n>
(2) while qwynn > nwws *yawn o1 P2 doesn’t count towards the 1°1n because
(a) Although it doesn’t matter that it’s not X2°n2
(b) It does matter that it’s 7n°nn 1PYn
iii) The net result is that the xn>>92 lists seven m»7an
5) mooin
a) Nwp as understood by X"wAn

i) Why doesn’t the Jwpn in his second x°wp ask that qwynn "> nww? *yawn o1 P2
shouldn’t count towards the 111 also because 82°n3 X

6) X"wann
a) xwp on the x°wp of n»voIn

i) The ywpn wanted to give a reason not to count wyin »° NWW? *yawn oy P2
that’s valid both for the ywpn and for the jx7n

i) Now
(1) both the ywpn and the 1xn agree that a 777271 that’s 72°nn P97 isn’t counted
towards the seven m772an

(2) But only the wpn holds that a 7727 that’s X2°n2 X7 isn’t counted towards
the seven m>7an

b) Here is how the m1x°2 we’ve just presented fits into the words of X"w"mn

11°0 077°127 °N1277 RY 9""O¥ "2 R2°N3 K7 R 907 %1 17 1" RO ancnn pyn 1o o 12 a7l
% AM20] P2 Wpn KD RO 2000 1Y [AWYnan o nwwh cvaws ar 1°2]7 K17 RowIpT

X7 X7 MWPa? XX 7INn? Xp°77] 70K 992 1921 Awpna 1120 °97 12 72°00 K2 & [Mwpn?
XY X7 00 Py [N 90awn a1 1°27] 1190 ROR [Yannh awpn] 0% 7019 XD 091 [R200D
[YNn? 12 Awpnb 192 1T 10 IR TWYnT o0 DWW SYawn 01 12 77 OYLn TWR] R0 X110
:2"PY R 72 TX2 R [YONn? Xp2T Awp 7200 007 1a] X200 K97 0w 7]
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